EARAROBEEIERT — 2 N— IBISH —F

2015558108 (B) 4EI£R1H

LY -7 L snsesmIPYHR63B—1 ¥ 5R3& (xwlw | mEmml - v 5 o 8
[AE4£] 1 7% :200,000™ ~ 237%&:40,000” ~ 337%&:18,000 M . 43&:14,000 537 :8,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
—: o . MAHIES] :33. -2-1- . — SEE_ (£R)
118111 FA4T ATy R # 3 o 1(3_3)4 1=2-1-1 | 41.3 1 37) e
R:IXTYY—X B:xq4x3I=3> [T bye]
w S ft 3 | Bt 1:33.4 4-4-3-3 |41.2| — 6 403 | =EEF (£R)
N - ST 54.0. (7t Gy | BHBE
X439 R—-5— B:I0-XN—F=— BEZZY K
= N 3 | HFBAX 1:33.4 8-8-6-5 |39.7| — 3 455 | REBE (£R)
3 2 | WU TT)F g 56.0 (75%) -3) (@) J PN
LT RIAYAV—> BHITTAR AEZE Y k
# 3 | tER 1:33.7 -1-1-2 |41.8| — | 2 | 425 |EEKE (&R
4 4 wLF1 b 54.0 (a 1/2) (+9) ;EE%?
R:g=/F¥LLy b B:xN=FJL1ZX [ 4%
Sy i 3 | BIURTE 1:33.9 4-3-4-4 |41.5| — 4 428 | £EH—8 (£R)
5[1)1|F¥7*x3 54.0 M) (o) | BRI
L:XxXp7w R BILY—IRTX E EB
0 o= . $BARKR— :34. ~5-5- . — FI—B (&R
6lsls| /8y o4T51% it 3 i 1(351)5 3-5-5-6 | 41.9 9 (4_1:) il
R:75v 784K B:NCT—ZWK B (ER
=g = 4 3 | REXA 1:34.7 9-9-9-9 |40.1| — 11 477 | BEA—3 (£R)
71719 ATV ITTT > A53.0 (3/4) (+4) (F) J P N+
:a-T>79U> B:h-5% BN #z
2 . % 3 | EEABSK 1:34.7 7-7-8-8 | 41.0| — 5 415 | EBEE (2R)
818(10 e O s R A51.0 (742%) 1) | B HiRECS
L:Urh—>r BIAZATUT RIRAUS
S 4t 3 | SHES 1:34.8 6-6-6-7 |41.6| — 7 429 | SHAREH (£R)
EH 3 ¥/ /74 6.0 (7€) © | Fr-arevar
RNAT ==L B:HxFN—b TR BR
N S = 6N :35. -10-10- . — SBARRK (£IR)
olzlg| g2ty =3 43 L& 1(3:3)7 9-10-10-10 | 40.3 10 (4:128) AL
R:TFZRAIH8— B:wLEZHIT1—F RS
NS BT - - - - hnEEFNE (£R)
% 71/ T7AR) =L 3 40 (shik) s (4;2) HIE (
L:RU—LATLy K BANLES MY vILA =E X
® I —F—@EBIERL
12—7- (4,11),5,(1,6),3,10,2, (8,9)
2a=7r= 4,11,1,6,5,3,10,2,9,8
ga=7"= (4,11),6,1,5,(2,3),10,9,8
43—F— 11,4,6,1,2,5,3,10,9,8
[ N3
BB 1 210H 714K 6-11 890M % E 6-8 1,440 3EHE 2-6-11 4,440
8 B 1 140 2-11 270M B 8-6 1,600/ K31 11-6-2 20,3704
6 290 2-6 1,420H B E 6-11 2,920M
2 260M B H 11-6 4,950

ABICOVWTRDTEEERROODE. TR LIV,




